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GENERAL INSTRUCTIONS TO THE EXAMINEES :

(1) weneff Teyem SO Y9 9 T AR g |

Candidate must write first his / her Roll No. on the question paper

compulsorily.

2) aft e e FAfEE |

All the questions are compulsory.

(3) T T HI I &l TS IT-YfEht 1 & fod |

Write the answer to each question in the given answer-book only.
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(4) TS 9991 T A= @Ug 2, 37 Ot o 3 U A1 & o |

For questions having more than one part, the answers to those parts are to

be written together in continuity.

(5) TH-9F % TG 9 ST U H fopell Tepr i Ffe/ 31a/foiiamymd 89 W
Temal wTeT o WA <1 &1 wEl A |

If there is any error / difference / contradiction in Hindi & English

versions of the question paper, the question of Hindi version should be

treated valid.

(6) Tug

A

Section

S a w >

11-18
19-27

28-30

Q. Nos.

1-10
11-18
19-27

28-30

3 T T

Marks per question

4

6

(7) I3 ShHTSh 28, 29 TUT 30 | 3AT=eh foehed & |

Question Nos. 28, 29 and 30 have internal choices.
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Word limit of

answer

10 words

20 words
30-40 words

250-300 words
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SECTION - A

1. 3rederme <t ford 9T § g1 ST 3T o TSR h Tgid ol S hid & ?

In which branch of economics do we study the general theory of income and
employment ? 1

2. Torueh U 37eduTre o T TTRA B 7

According to whom economics is the study of wealth ? 1

3. grel bl Hferddr @ e A R 7

What is meant by limitation of resources ? 1

4. YA I FIAIAR ?
What is meant by supply ? 1

5. o UM dehleh ol RTieg shifera |

Define labour intensive techniques. 1

6. < SfterTITe aqan o Ay fafew |

Write the name of two perishable goods. 1

7. WRARTIANIR ?
What is meant by stock ? 1

8. TcIASH U AWI R 7

What is meant by depreciation ? 1

9. Hehdl oW ¥ 3119 FIT IHIA & 7

What do you understand by Gross Investment ? 1

10. G=qgfeta srsfe = aieaTiya hifs |

Define Balanced Budget. 1
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17.

18.
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SECTION -B

Wfeer fargarmo g yrafires fovcivo <& 489 § g9emsy |

Explain briefly static analysis and dynamic analysis. 1+1=2

Tole TG 1 [T §13T |

Draw the budget line diagram. 2

ot gfcRnfirar sTerR 3t 18 < foreiaTd sarsy |

State any two features of perfect competition market. 1+1=2

TR HAd T G T 3G (NNPy,p) § 99 R T I T 316 A1
T 1 T fafan |

Write the formula to calculate Net National Product at factor cost from Net
National Product at Market Price (NNPyp). 2

I TN HEd W Hhd, B 3G (GDDy,p) 3 4,000 IS TAT Ioag™
% 800 IS 7, Al TR hiHd T G Tl 3¢1G (NDP, ) T HIT |

If Gross Domestic Product at market price is ¥ 4,000 crore and depreciation is
800 crore then calculate Net Domestic Product at market price. 2

fcfssd e & TER THY Yfd HehedT ! THeST |

According to classical economists explain the concept of aggregate supply. 2

I S5 I T H FHATIT |
Explain briefly the supplementary budget. 2

“fin U’ <l THFATST |
Explain ‘BHIM app’. 2
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SECTION -C

19. IUNIKIT o T ohl TSELT T3hI <! HETIAT & THITST |

Explain the consumer’s equilibrium with the help of the indifference curves. 2 +2 =4

20. T Tmehi & B’ Jedreeh 6 et shY oA ST

qE] I HEd 05 10 15 20
(&)
‘A’ 3TTEH 07 12 19 28
ara fd
‘B> 3dIcHh — - — —
ara fd
TSI gfd 20 30 50 60

Calculate the supply of Producer ‘B’ from the following data : 4
Price of Goods (%) 05 10 15 20
Supply of Producer 07 12 19 28
CA,
Supply of Producer — — — —
‘B’
Market Supply 20 30 50 60

21. qui SR o T=ald STedehTela SR | (@Tas i 9geal 8§ hiFd i
BEEIE

Explain the equilibrium price in short-period market in perfect competition
with the help of diagram. 2+2=4

22. 3AT9ehI 3fte H, TehIfUehRIcHeh SRR shi %his 9 foRIvard srarsy |

In your view, mention any four features of Monopolistic competition. 1x4=4
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23. SN hHd T Fehel T 3TUTG ohi TRHTT TF IF fafaT |

Write the definition and formula of Gross Domestic Product at market price. 2 +2 =4
24. @ o i 5 IR HHTE T8 HIRT |

Explain any four limitations of credit creations. 1x4=4
25. Ufa fer 1 W@ i agmar § T i |

Explain the induced investment with the help of diagram. 2+2=4
26. 3TIeh! gfe |, TSt Fife o ST TR gRI i & U I =TT ?

In your view, what are the step taken by the government under the fiscal

policy ? 4
27. 39k AR, ek Hifer o ITHT o T | Sle o1 T T § 7

In your view, what is the importance of budget as an instrument of economic

policies ? 4

yig —¢
SECTION - D

28. W sk Ry had & ? HIT S5k & cliedl 31X Ud R 37K fggerd ol Waifa 6

gl | 99EsT |

YT

T T T T~ TEU fh8 Had & 7 9%q hl hiAd | Jig T 37 awq3Tl

HIT O TWTE oh! T@THA hl HERId § TS |

What is Demand Curve ? Explain the shift in demand curve to the right and

left with the help of diagrams. 2+2+2=6

OR
What are the complementary goods and substitute goods ? Explain the effect
of increase of price on the demand of these goods with the help of diagrams.
2+2+2=6
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29. 37Hd IcdTeH T g1 IcdTe shl SARedT 3@ hl 9grar 9 hifu |
YT

eI 3T ATd Td dreehTei . HHT= TIFTd shl SARedT WgTi<re <hl Tgrdr °
I |

Explain the average product and marginal product with the help of diagrams.

4+2=6
OR
Explain the long-run average cost and long-run marginal cost with the help of
diagrams.
4+2=6
30. Hd Sk o fohegl i ST okl [IEqR & THLTST |
CUE]
T ot sieh <6t Hifges i & fohegl i S Iqehton <Al fere® & Tmesy |
Explain broadly any three functions of Central Bank. 2+2+2=6
OR
Explain broadly any three principal tools of monetary policy of Reserve Bank
of India.
2+2+2=6
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